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. 28 ¥ =3
1. SmENE (Eio):a
+ B g A4 <+

ol gug’ | FF () | RERAS?

353 A = o
1 9 9 5 108(9) 651 755 19,233 9,503 9,730
1 9 9 6 108(9) 629 649 18,054 8,977 9,077
1 9 9 7 105(11) 613 611 16,662 8,299 8,363
1 9 9 8 103(10) 586 586 15,477 7,803 7,674
1 9 9 9 97(10) 494 494 11,682 5,901 5,781
2 0 0 0 89 535 535 13,848 7,049 6,799
2 0 0 1 86(14) 533 533 13,012 6,667 6,345
+ A 40 54 54 1,003 500 503
253w 25(14) 289 289 6,230 3,177 3,053
= 8 m 15 110 110 3,283 1,705 1,578
(FFH) 14 107 107 3,183 1,659 1,524
( A ") 1 3 3 100 46 54
YA DS e w 2 24 24 894 392 502
(FF%) 1 21 21 776 329 447
( AF &) 1 3 3 118 63 55
A TSE R 4 56 56 1,602 893 709
(FF3) 4 56 56 1,602 893 709
(AHZ ) = - - - - —
7] € & = - - - = - B
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(2r9): =)
TEa B —— ]
#44 AlTa T w1 a [ a [ &+ 1 a9 |
1 9 9 5 1,410 1,159 656 503 257 209 42 -
1 9 9 6 1,419 1,115 633 482 253 201 52 -
1 9 9 7 1,313 1,067 603 464 246 183 63 -
1 9 9 8 991 1,011 604 407 249 176 73 -
1 9 9 9 991 785 440 345 206 143 63 -
2 0 0 0 1,127 907 500 407 220 161 59 -
2 0 0 1 1,099 892 484 408 207 153 54 14
+ A 59 59 2 57 - - - 18
=5 3% = 503 378 214 164 125 84 41 16
= &% = 313 267 129 138 46 41 5 12
(F3%) 303 257 124 133 46 41 5 12
(2 8 ) 10 10 5 5 - - - 20
JutA 15387 66 58 42 16 8 6 2 15
(F3%) 51 47 34 13 4 4 - 16
( A 38 ) 15 11 8 3 4 2 2 10
AdAT5stw 158 130 97 33 28 22 6 12
(3 %) 158 130 97 33 28 22 6 12
(AFZ %) - - - - - - - -
7] BF 3 = - . - - - - - -

g Agphd= g msA
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N
0
ﬂ
o

(Er2J:7H, =)
T y o A of £ B

SR 4 & | FF

39 A 3 o A F |
1995 47 56 1,034 525 509 57 3 54
1996 47 52 978 478 500 52 - 52
1997 47 55 1,090 529 561 58 - 58
1998 46 54 998 535 463 56 - 56
1999 46 54 998 535 463 56 2 56
2000 40 49 949 504 445 52 2 50
2001 40 54 1,003 500 503 59 2 57
3 7 17 435 207 228 22 2 20
A A 1 1 27 8 19 1 - 1
3} A 2 2 33 16 17 2 - 2
& Ab 2 2 36 19 17 2 - 2
+ A 6 7 102 59 43 7 - 7
= ¥ 1 g 48 22 26 2 - 2
5 4 1 1 21 10 11 1 - 1
< A 1 1 18 7 11 1 - 1
A = 2 g 21 12 9 2 - 2
u} Ak 2 2 29 18 11 2 - 2
s Ak 4 5 69 38 31 5 - 5
Ab o] 4 4 50 28 22 4 - 4
= Y 4 4 46 24 99 4 - 4
3 3 4 68 32 36 4 ~ 4

TR (H) (Sl 7H, =)

T ¥ AR A A £ A H 4 AR F

oJal

pikie A L . A o °
1995 5 1 4 278 130 148
1996 - - - 315 168 147
1997 4 2 2 400 186 214
1998 3 2 1 366 189 177
1999 3 2 1 366 189 177
2000 - - - 314 166 148
2001 - - 338 182 156
H 3 - - - 94 49 45
A A - . - 12 5 7
3 Ak = - B 7 3 4
A - - - 11 9 2
£ - ~ = 42 23 19
2 9 - - - 30 14 16
5 4 - - - 1 = 1
< A = - - 6 2 4
I - - ~ 9 6 3
al  Ab - - = 12 10 2

Ak - = - 31 19 12

Ab ol - - - 26 13 13
+ = = - 22 11 11
3 o ~- - - 35 18 17




FXE(H) (SHel:7H, )
T 85 A $ x A F

@3 .

bick A = o A | 2Ead | #394 | 3
1995 994 533 461 72 52 19 1
1996 899 470 429 72 52 19 1
1997 942 464 478 69 54 15 1
1998 845 404 441 73 54 18 1
1999 845 404 441 73 54 18 1
2000 726 391 335 52 49 2 1
2001 656 330 326 57 54 2 1
3 3 163 66 97 20 17 2 1
A AE 23 10 13 1 1 - -
3} Ak 41 22 19 2 9 - -
¥ AF 24 13 11 2 2 - -
£ X 105 57 48 7 7 - -
¥ 3 25 10 15 v g - -
2 o 22 13 9 1 1 - -
< A 18 10 8 1 1 - -
A = 19 12 7 2 2 - -
a} AL 12 8 4 2 2 - -
sl Al 42 27 15 5 5 - -
Ab o) 28 14 14 4 4 - -
= Yy 78 36 42 4 4 - -
3 & 56 32 24 4 4 - -

Az A= SdnsA

3. =S8m (E194:7H,2 )

T g @ 5 & 4 &

c& A=l 3] Py

ng% 2w ¥ AT A i o
1995 40 9 352 8,797 4,167 4,030
1996 40 9 337 7,571 3,823 3,748
1997 37 11 334 6,898 3,499 3,399
1998 36 10 321 6,628 3,328 3,300
1999 36 10 321 6,628 3,328 3,300
2000 28 12 288 6,386 3,232 3,154
2001 25 14 289 6,230 3,177 3,053
3 2 1 82 2,800 1,434 1,366
A A 1 1 9 139 71 68
k1 2 - 13 243 129 114
A 2 - 13 219 113 106
£ A 4 2 37 630 324 306
B 9 1 - 8 231 109 122
2 4 1 1 9 161 86 75
< A 1 - 7 143 64 79
A X ol 1 12 126 70 56
a} Ak 1 1 9 79 41 38
3 Ak 2 3 31 489 239 250
Ab o] 3 1 21 324 165 159
= v 3 1 25 407 218 189
3 1 2 13 239 114 125




ZS8u(H) (SHQ):, ®nf)
e g & AFEA] 4=

Sikziel

9 A El | A 7 o
1995 493 286 207 157 131 26
1996 481 277 204 153 122 31
1997 461 260 201 151 108 43
1998 439 266 173 153 103 50
1999 439 266 173 153 103 50
2000 382 207 175 129 87 42
2001 378 214 164 125 85 40
3 95 49 46 15 9 6
A Ab 13 G 6 6 2 4
3 Ak 19 12 7 8 5 3
3 A 19 12 7 8 5 3
£+ XA 49 36 13 17 14 3
2 v 7 5 8 6 2
= 4 12 7 5 5 4 1
< A 11 5 6 5 3 2
A 15 10 5 5 4 1
ul Ak 12 6 6 6 5 1
3 A 39 21 18 13 9 4
Ab o] 31 12 19 11 7 4
= Y 34 20 14 10 5 5
3 o 17 10 7 8 7 1

ZS8u(%) (S92, Rint)

I I L =AY | A® | ny | 54

S8 s | AL | TA H A A = A
1995 2,010 2,009 972.0 81.0 353 -
1996 1,556 1,555 923.0 83.0 337 -
1997 1,394 1,394 864.0 83.0 334 96
1998 1,246 1,245 878.0 82.0 321 93
1999 1,245 1,245 878.0 82.0 321 93
2000 1,151 1,151 783.0 55.0 288 121
2001 1,084 1,084 766.0 54.0 289 120
] 447 447 85.0 8.0 79 14
A A 36 36 46.0 3.0 10 6
3 Ab 41 41 30.0 2.0 13 6
3 Ak 51 51 40.0 3.0 13 11
%= A 132 132 87.0 7.0 37 17
! 41 41 17.0 2.0 10 3
= 4o 21 21 45.0 2.0 9 4
< A 24 24 24.0 1.0 7 7
A 19 19 43.0 3.0 11 7
u} Ak 12 12 51.0 4.0 9 4
3 Ab 83 83 100.0 6.0 31 10
Ab o] 68 68 67.0 5.0 92 6
= Y 74 74 75.0 5.0 26 13
3 35 35 56.0 3.0 12 12

A AR ddnsA

F:D)IAAHE g2 A3 FAY. 2)AEBHEAL vE 9 EdwAl, #AA, Jele] A 4.
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4. S8mM(ZZgl) (9] 7H,20)
SR & 4 2 S ARF-A 4
S g F4
$an R T Talalelalal 2] 4
1995 14 149 5816 2839 2977 347 174 173 52 45 7
1996 14 138 5221 2600 2621 310 161 149 51 42 9
1997 14 124 4568 2303 2265 291 161 130 50 41 9
1998 14 114 3912 1964 1,948 274 165 109 50 38 12
1999 14 114 3912 1,964 1,948 274 165 109 50 38 12
2000 14 108 3398 1,718 1,680 250 129 121 47 40 7
2001 14 107 3,183 1,659 1,524 257 124 133 46 41 5
g3z 1 22 735 735 - 43 26 17 4 3 1
sdedn 1 19 648 - 648 39 15 24 4 3 1
Az 1 3 59 25 34 10 5 5 3 3 -
gz 1 6 148 84 64 15 7 8 3 2 1
ofm 1 3 68 34 34 10 5 5 3 3 =
AL E 1 6 136 71 65 17 11 6 4 3 -
A= 1 12 391 190 201 26 12 14 4 4 -
SFA 2 1 9 276 140 136 19 10 9 3 4 =
A}l o] 2 1 6 193 90 103 15 6 9 3 3 -
q A2 1 6 163 89 74 15 6 9 3 3 -
Z5EF 1 3 87 48 39 10 4 6 3 3 -
A= 1 3 79 43 36 11 6 5 3 2 1
° 1 6 165 83 82 16 8 8 g 3 =
n} Al 2= 1 3 35 27 8 11 3 8 3 2 1
FHA(I2U)(S) T
DS R A & B E 53
Sy 4 | Asx R A A A = A = A
1995 2,239 2,195 357.0 37.0 149 131.0
1996 1,941 1,907 357.0 37.0 138 144.0
1997 1,819 1,812 358.0 39.0 124 81.0
1998 1,804 1,795 348.0 40.0 114 85.0
1999 1,804 1,795 348.0 40.0 114 85.0
2000 1,280 1,280 317.0 24.0 108 135.0
2001 1,170 1,168 317.0 24.0 107 134.0
3= 229 997 30.0 3.0 99 16.0
GRS 206 206 20.0 3.0 19 21.0
AxF 30 30 16.0 2.0 3 2.0
xy 51 51 29.0 2.0 6 2.0
of v & 25 25 30.0 1.0 3 4.0
A= 62 62 21.0 2.0 6 9.0
+ A & 153 153 24.0 1.0 12 22.0
AL 129 129 21.0 2.0 9 10.0
Al o] 2= 62 62 11.0 2.0 6 6.0
AL 61 61 20.0 1.0 6 6.0
=F5F 30 30 23.0 2.0 3 9.0
SAF 43 43 23.0 1.0 3 13.0
$595 68 68 23.0 1.0 6 9.0
uf Al & 21 21 26.0 1.0 3 5.0

AR %

)

= sdasA



(CLR
& [ &4 5 R AR Q4
gz T TEN T T [a [A | e A o
1995 1 6 264 129 135 19 13 - - .
1996 1 6 214 92 122 17 1 - - =
1997 1 6 189 77 112 17 10 - - .
19938 1 5 144 74 70 16 9 - - -
1999 1 5 144 74 70 16 9 - - -
2000 1 4 108 60 48 13 7 4 2 2
2001 1 3 100 46 54 10 5 - -
¥ F 1 3 100 46 54 10 5 - - -
S (ALRD(H) (E49): 2, R
TR A3 2 A A = »E =y
Qs g | Aska 2 A H A 2 A 2 A
1995 104 102 = 3 8 85
1996 98 98 - 15 6 8.5
1997 75 75 33 2.4 6 5
19938 83 78 33 2.4 5 6
1999 83 78 33 2.4 5 6
2000 47 46 33 1.0 4 8
2001 31 31 33 1.0 3 8
RO 31 31 33 1.0 3 8

Al A= SdmsA
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6. A DSSm(Z - ZE!) (2He): 7,2
* g4 & =z 4 % NEREPN
stw s 3 F4
G| A & o A k5 o] Al L o
1996 1 25 1,115 459 735 59 51 21 6 4 4
1997 1 23 1,019 390 629 55 44 11 5 3 9
1998 1 21 937 395 542 50 41 9 5 2 3
1999 1 15 651 172 479 36 oF 9 5 4 1
2000 1 21 835 365 470 47 33 14 6 5 1
2001 1 21 774 330 444 47 34 13 4 4 -
gz 1 21 774 330 444 47 34 13 4 4 =
eSS m(F - ZRN(H) (SH9): 5, Hmi7HA)
+ ¥ A3 Z A A nE o 3
9 A | AgA oA il 2 A
1996 394 324 21 8 27 -
1997 393 183 21 8 23 -
1998 392 325 21 8 21 -
1999 312 280 21 8 21 =
2000 316 273 21 9 21 13
2001 307 295 21.1 9.6 21 16
SR 307 295 21.1 9.6 21 16

s ddsda
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7. AUHA[ S St (AIR)

T ¥ 3 A z o $ e
st (gHF4
a9 A 3 o A b 1
1996 5 190 119 71 15
1997 6 140 92 48 14
1998 5 153 91 62 14
1999 5 116 65 51 15
2000 4 107 56 51 10
2001 4 108 55 53 11
ki i 1 4 108 55 53 11
UHA| DS SW (AR )(H) R mi7H
T & g3z} 2 A A B -
_ o A o A 1=
a4 42 Z &} = v
1996 39 10 31 -
1997 49 19 31 -
1998 49 29 31 -
1999 47 25 25 -
2000 31 20 9 2
2001 48 28 34 1
3l 48 28 34 11




8. MRAINSEm(Z - 28l) (494 7H
*¥w o EIIRN = 4 5 REETPPS
‘ﬂ%‘; —}A‘n— t}%‘{l\‘
o= v Al L3 o Al G o A T S
1995 4 60 2554 1288 1,266 165 129 36 24 22

1996 4 63 2,686 1,406 1,280 168 124 44 31 26
1997 4 66 2,758 1,409 1,349 171 119 52 30 24
1998 4 66 2,705 1,416 1,289 162 114 48 33 27
1999 4 64 2,468 1,290 1,178 155 117 38 31 26
2000 2 61 2,065 1,114 951 146 109 37 30 25
2001 4 54 1,598 884 714 130 97 33 30 25
] 3 1 31 1,078 647 431 75 55 20 17 14

2 3 1 9 221 98 123 20 16 4 4 3
% X 1 4 85 24 61 13 10 3 3 3
3 Ab 1 10 214 115 99 22 16 6 6 5
A nSstm(Z - 2ENB) R
N i e a2 =5 5
gaid a4 | AR 4 A 4 A A A
1995 511 71 91 22 60 54
1996 726 97 98 32.1 63 146
1997 795 174 99 25 66 85
1998 910 244 99 31 66 31
1999 867 243 83 33 64 85
2000 865 307 79 32 61 35
2001 870 316 95 32.7 55 104
3 3 529 212 28 22.0 33 60
9 125 56 20 4.0 9 8
% X 88 19 28 2.0 4 21
3 Ab 128 29 19 4.7 9 15
Az AdEdnsety, $AEYTsSE 2RI nS G, FAAQ IS G
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9. MEHOIE &

T H g A A A A % A o
) HE
oy A A olE | f9 ¥ et A =7 =4 A

1995 1,150 1,148 7 1,146 - 1,146 - 99.7
1996 1,126 1,125 1 1,124 = 1,124 - 99.8
1997 978 976 2 972 - 972 - 99.4
1998 1,125 1,093 32 1,109 - 1,109 ~ 98.5
1999 1,125 1,093 32 1,109 - 1,109 - 98.5
2000 1,072 1,051 21 1,051 - 1,051 - 98.0
2001 1,043 1,026 17 1,026 - 1,026 - 98.0
] 501 490 11 490 - 490 - 98.0
AbAE 1 20 1 20 - 20 - 95.0
3} Ak 45 45 - 45 - 45 - 100.0
8 Ak 40 40 - 40 - 40 - 100.0
£ A 95 95 - 95 - 95 - 100.0
9 32 32 - 32 - 32 - 100.0
¥ 4 28 28 - 28 - 28 - 100.0
S A 23 21 2 21 - 21 - 91.0
A = 29 28 1 28 - 28 - 97.0
a} Ak 11 11 - 11 - 11 - 100.0

Ak 78 78 - 78 - 78 - 100.0
Ab o] 48 47 1 47 = 47 - 98.0
= Yy 59 58 1 58 - 58 ~ 98.0
3 o 33 33 - 33 - 33 - 100.0

A A= sdusA
10. Atadsta (etor:e

T & 3 4 £ FIAAS
od A=l
e A | waA | A%A | A |A9AF| A | ¢ | A

1995 71 8 12 31 20 2,702 1,136 1,566
1996 79 11 14 33 21 2,954 - -
1997 77 26 12 34 5 2,873 1,245 1,628
1998 78 13 8 37 20 2,452 1,057 1,395
1999 7 13 8 74 20 2,452 1,057 1,395
2000 88 16 8 40 24 2,355 1,112 1,243
2001 97 20 10 a1 26 2,411 1,135 1,276
3 62 17 - i 27 11 1,912 905 1,007
A Ab 1 - - - 1 19 5 14
3 Ak 2 - 1 1 35 14 21
o Ak 2 - - 1 1 57 33 24
& A 6 1 1 3 1 63 30 33
¥ 9 5 - 1 1 3 69 26 43
5 o 2 - - 1 1 32 18 14
< A 2 - - 1 1 32 15 17
A F - - - - — ~ = =
n}- }\‘l- _ _ _ _ _ _ _ _
3 Ak 5 1 1 2 1 67 34 33
Ab o] 5 - - 2 3 32 15 17
= Y 3 1 - 1 1 46 22 24
3 & 2 - - 1 1 47 18 29
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(9]
T+ o] A} 7 A

g

k] A o o A k-3 o
1995 - - = - = -
1996 - - = - - -
1997 5,816 2,767 3,049 103 40 63
1998 3,286 1,645 1,641 103 31 72
1999 3,286 1,645 1,641 103 31 72
2000 2,214 997 1,217 118 41 77
2001 4,656 2,187 2,469 124 43 81
3] 3,605 1,690 1,915 92 29 63
A A 62 26 36 5 4 1
3 A 64 33 31 2 - 2
A 89 48 41 3 1 2
% A 136 65 71 5 2 3
5 160 67 93 2 - 2
5 4 50 29 21 1 - 1
5 A 49 24 25 3 2 1
A = - - - - - -
u}- l;_]_- _ _ _ _ _ _
% A 128 58 70 4 1 3
Al o] 108 50 58 1 - 1
= 4 108 52 56 4 2 2
3 97 45 52 2 2 -

AMMEHRI(S) (e2:2)

T %] 4 o+

Sl S | AJAGAS | AFFAS

k] A k=2 o
1995 - - - - - -
1996 - - - - - -
1997 28 6 22 239 40 87
1998 49 15 34 186 51 70
1999 49 15 34 186 51 70
2000 32 12 20 201 12 88
2001 33 14 19 231 12 91
3 25 11 14 169 9 61
A A - - - 4 — 2
3 A 1 - 1 3 1 3
q A - - = 5 = 1
£ 3z 4 2 14 1 5
5 9 - - - 6 = 3
5 4 - = = 2 = 2
5 A = = = 8 = 3
A F - - - = = ~
1:1]- AL]_- = e - — _ _
g Al 3 1 6 1 4
A} o] - - - 6 - 2
F J - - - 4 = 2
3 o - = = 4 - 2

A

N
fu

depd = s dasA
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1. 23=MH

(=

@

7 ¥

o) 4 =S & e AX g | Aol 4As | Aol 4L of| A

i)
1995 - 1 236 32,704 19,350 - 160,160
1996 4 1 236 41,558 4,382 3,812 96,738
1997 4 1 136 43,975 18,961 13,456 127,096
1998 4 1 236 44,893 23,839 24,139 40,654
1999 4 1 236 47,657 17,150 33,450 42,089
2000 4 1 236 50,117 32,615 63,169 165,311

Az Azpd= AdnsH

=
12. 23x) (4912 7H)
T ¥ Z 7 A R E 3} A

g} 27 7 -

| A =K HE | AAGE | APA (AA)EE [ F80448 | 34758
1995 49 18 1 10 1 2 2 1 1
1996 51 19 1 10 1 2 2 2 1
1997 52 19 1 10 1 2 2 2 1
1998 52 20 1 10 1 2 ) 2 1
1999 52 20 1 10 1 2 2 2 1
2000 55 20 1 10 1 2 3 2 1
3 @ 10 6 1 3 - 1 1 - -
A AE 16 6 - 4 1 - 1 - -
3 Ak 2 - - - = - - - =
dq  AF 3 2 = - ~ - - =
£ A 4 2 = - - - - -
= 9 1 - - - = - - - -
5 4 2 - - - - - - - -
< A 2 = = » - - - - -
A = 2 = - — - - - -
a}  Ab 3 = - - - - = - -

Ak 2 1 - . - - -

Ab o] 1 1 - = = - -
= 4 4 2 - = - -
3 d 2 = = = — - - = -
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